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Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is “CORRECT” answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, the write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : VII-A
Full Marks : 20 Time : Thirty Minutes
Choose the correct answer.

Each question carries 1 mark.

Answer all the questions :

1. How many 9fds are there in Kavyadarsa ?
(A) 3

(B) 4
© 5

(D) 6

2. In the beginning of the Kavyadarsa, which God is Praised by SU€l ?
(A) TTOIST:
(B) wrEd
(C) HET:
(D) srem

3. ‘' 371G geERHl
(A) F=&Iq
(B) <A
(C) =
(D) =1eH

"' fill in the blank with appropriate word.
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4. How many hIeTS are mentioned according to Kavyadarsa ?
(A) 2
B) 3
© 4
(D) 5
5. To which category does the FERISITT belong?
(A) HEFTH
(B) <
(C) wmef
(D) H1hdH

6. Who is the founder of Riti School?
(A) dmE:
(B) T
(C) HMHeE:
(D) HHZ:

N

7. ' RifheaTqaTeTal HHfd Foran-at ¢’ is the example of —
(A) FeTwoT:
(B) AT
(C) TERTO:
(D) ST
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8. Dandi is an inhabitant of —
(A) I
(B) hreeit
(C) e
(D) et

9. What is the language of T ?
(A) G
(B) Tire
(C) @t
(D) HERTET

10. What is the founder of Alamkara Schol ?
(A) HHE:
(B) T
(C) P
(D) v

11. What is the other name of T@ﬂiﬁ‘ in previous birth ?
(A) TSI
(B) =r=Tdre:
(C) SSTHTI:
(D) s
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12. What is the meaning of the word “IEF’?
() g R/
(B) 3o
(©) g
(D) |
13. Who wrote the last part (ST ) of HEF ?
(A) STOTYIE:
(B) Pohie:
(C) T

(D) gferwg:

14. Which is the capital of king Sudraka ?
(A) HIeTer:
(B) =T
(C) fafeem
(D) ST

15. What is the name of the ' STEIRE: ' in the Kadamvari ?
(A) FE:
(B) JITE
(C) s
(D) o
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16. Who was TORTg: ?
(A) TR
(B) 3THTH:
(C) qufea:
D) T

o~

17. “'EIC € M R’ Who is the speaker of this line?

(A) TTaTE:
(B) THER:
(C) A=t
(D) =S
18. Who is meant by TSI ?
INRERZEELE
(B) herageld:
(C) ATeIaIaq:
(D) THEETH:

19. What is the daughter’s name of king ‘figadt’ 2
(A) ¥
(B) ST
(C) 3TvarTfeTehT

D) ¥ Turn Over
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20. ‘‘ufdgaea a9 o WEEag<sAt: ¥&HY '— Who is meant by T ?
(A) TSTaTE:
(B) TUHR:
(C) =veemt

(D) AMEER:
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[New Syllabus]
Full Marks : 80 Time : Three Hours Thirty Minutes

The figures in the margin indicate full marks.

1. Answer any three of the following questions : (Answer each question within 300
words) 15%3=45
(A) Write a clear note on the definition of Kavya ‘IR aafeErefeates-

Yaraell’ — given by SUSI in his Kavyadarsa.

(B) Write a detailed not on ®9eh: or 3TJHTH:.

(C) “3rEra fodss #HM™ 9" — Who said this and to whom it was
said ? What was the curse? How was she free from the curse?
2+6+7=15

(D) What was the name of the capital of king Sudraka ? Give a penpicture
of it as describe by Banabhatta state the conditions of the subject under

the administration of king Studraka following your text. 2+13=15

2. Translate into vermacular any one of the following : 10x1=10

(a) A& " AT AfeqeaTaeshe T TGRS =T uT& -
fafegfonTielal BRATAGeSAT g dHad T ARIGeh TH
HREHHTehUS IR Hidoh Hfurfetur Tgapfora afcrasada | wifaaes iftd

HIsfa o7 7 I — ‘U e desTtasTiada=an’ gt gfa |
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(b) Thal § Hifaglifed TeMfaeaeqertafe fhsagqmehdefar wEfd

FSTHATEHTTAT TSATTHIETHUS TG ... TRl T IEc
feffaaafafedartehaen SfaaHeed |

. Define and illustrate any two of the following : (Each answer is to be given

within 150 word) 71 x2=15
(a) ST

(b) TerHTelfeR:

(c) gEI:

(d) srfaerfes:

. Explain any one of the following veres : (Answer is to be given within 200
words) 10x1=10

(a) 38 RmRmemr femmty e |

LN N N (N
didHd HHIQd eflshd=&AT Hddd ||

(b) el TNy TEpaT T T |
ATl AIgtgATef geq FHUr |
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